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STRUCTURE OF THIS PAPER
Format Number of questions | Number of questions Marks available
available to be answered
Short Answer 28/
4 3 / 30

Write answers to all parts of each question in the spaces provided.
Refer to examples to illustrate wherever possible.

Time allowed for this test: 60 minutes
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Task Outline: Under test conditions, answer all the following questions.

Question1 /

(a) List two advantages of a court hierarchy in keeping the judiciary accountablé. [2 marks]
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(b) Explain, with referenoe to an example, how a judge might be remoqu [3 marks]
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Question 2

(a) Define the term 1ud|cnal revu@r [2 marks] p
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(b) Distinguish between the roles of the High Court of Australia and the Administrative

Appeals Tribunal in prowdmg judicial review. [3 marks]
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(c) Explain, using at least one example, how the High Court provides a check and balance
on the legislative branch of government in Australia. [5 marks]
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Question 3

(a) Outline two internal processes and/ or procedures of Parliament that promese X3
accountability. (2 marks)
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(b) xplain f‘\'ow parhamentary privilege' might undermine the accountability of
parliamentarians.
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(c) Evaluate the effectiveness of elections in keepmg Parliament accountable.
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[5 marks] ,
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Explain what is meant by ‘public confidence in the courts’. [2 marks]

y{f\Outline three aspects of Section 72 of the Commonwealth Constitution. [3 marks]

‘({ Evaluate how parliamentary scrutiny and legislation can act as an accountability
measure of the Judiciary. [5 marks)




